Fourier Transform of Complex
Exponential

What is the Fourier transform of the complex

exponential
_ pJwot
g(t) =e

1. 7T5<w + w())
2. TO(w — wy)
3. 27’(’5((.0 + wo)

4. 2md(w — wp)
5. None of the above

6. Don’t know



Fourier Transform of Sinusoid |

What is the Fourier transform of the sinusoidal signal

g(t) = cos(wyt)

O(w — wy) — 0(w + wp)]
(W—wp) + 0w + wp)]

O(w — wp) + 0(w + wp)]
. 5((,0 — w()) — (5(00 + u}o)]

Jj
6. 5 |0(w — wp) + 0w + wp)|
7. None of the above

8. Don’t know



Fourier Transform of Sinusoid |l

What is the Fourier transform of the sinusoidal signal

g(t) = cos(wopt)o(t)

1 — CiOMQ + 5 [0(w — wp) + 6w + wp)]
2. — CiOMQ + 7 [0(w — wo) + d(w + wo)]
3 s+ T 5w — wo) + 0(w + w)]
a azj—wa + 7 [0(w — wp) + 0(w + wp)]

5. None of the above

6. Don’'t know



